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18.84 cm
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Q@ (RtA152] Z°l)= 6(cm)

© (959 % )=6x2x3.14 x % = 18.84(cm)
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= cm?

>
> HED 904.32cm?

279 Jol7} 50,24 m? 0], ol7} 18cm 91 97159 $3)5 5}
2

(27152 Fu) = (22 Hol) x (&°l)
= 50.24 x 18 = 904.32(cm?)




E 17} 401.92cm? ©|2, @Y o7} 50.24cm? Q1
A Q..




Q1 o]7} 78,5 cm? 0] 1, K17} 1020.5cm? Q1 97159 EolE 73}

(Fa)=(EHel)x(=°l)
(Eol)=()+ (2" el)
1020.5 = 78.5 = 13(cm)




o] o7t 5em o)A, 7} 942cm? ¢l 97159 =

D)12em @ 9em ® 8cm @ 6cm ® 4cm
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> E: cm?

> = 7975.6cm®

El
=)
o
B
o

(2 )= 10 x 10 x 3.14 = 314(cm?)

(F1])= 314 x 19 = 5966(cm?)

(W) BEx]59] 4o]7F 16 + 2 = 8(cm) °]E&
(9] Yol)= 8 x 8 x 3.14 = 200.96(cm?)
(F-1])= 200.96 x 10 = 2009.6(cm?)

webA 47]F 9] Fu o & o

5966 + 2009.6 = 7975.6( cm®)

—




7. g AMER THE YAEF ] FulE oA Q.

[C~---43.96cm---~ [5cem

o HEz] 59| dol& Fdytt.
Zo])= 43.96 + 3.14 + 2 = 7(cm)
7X7x3.14) x 5 = 769.3(cm?)




8. = ez TrEolAle YA 9 FuE 7oA 2.

TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)




the 29 e A5 AAEYY. o AAER A715L
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@

“>12 56em-" |\

O

® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)




10. thee U5 AAYUL o] 97159 23S T5pA2.

| 2
> ®E: 238.64cm3

0.

(2x2x3.14) x 19 = 238.64( cm?)




@ 1x1x3.14x5=15.7(cm?)
@ 2x2x3.14 x4 = 50.24(cm?)
®2x2x3.14x5 = 62.8(cm?)
@ 2x2x3.14x6 =175.36(cm?)
® 3x3x3.14x2 = 56.52(cm?)




2cm = cm
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2.5¢m .'
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4cm 4cm
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4cm 3.5cm
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/
®
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\
\
?cm
!

@ 1x1x3.14x25="7.85(cm?)

@ 2.5%2.5x3.14 x 3 = 58.875( cm?)
® 2x2x3.14 x4 = 50.24( cm?)

@ 2x2x3.14x3.5 = 43.96( cm?)
® 1x1x3.14x5=15.7(cm?)




13. 7EolA Eolut 4z 52H, Ful= 2 Hl= SoldUy71?




14.

1 s 2 cm
W
@
cm

4
> ®HE. 14cm

|

o19)

=9

rr

7O =%

@ 25 Sl Q= B 2]

Ful= g5y
@2 2] K1 : 7x7x3.14x2 = 307.72(cm®)

@2 29| £l [ |emet st
3x3x3.14x[_|x g = 307.72

NeX N

21.98 x| |=1307.72
[ ]=307.72 +21.98

I:l = 14(cm)




15.

2.512L

1
10 10 3.14 X 40 X & = 2512(em®) = 2.512(L)
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16. o 97150 ZHolE 1406.720m YUk, 0] §17]52] 2

E oH
cm® JU7H?

@ 6018.44cm? @ 5678.52cm? @ 5024cm?®
@4019.2cm3 ® 31l4cm?®

~EB \
A71529] %olE [ |em 2t 514

8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72

401.92 +50.24 x| | = 1406.72

50.24 x| |=1004.8

|:| = 20(cm)

(P7159] H1]) =8x8x3.14x20
= 4019.2(cm®)




A7) 5ol A WA B 2] oS 2508 Sw, R
7] 714 2.

(o) =(2He Hol)x (=°l])
)% (FFR]E)x3.14x (&=°])

whal A v 29 2.5u 2 52H




18. the AAEGel H3)2 FahA 0,

(@)803.84cm3 @ 756.12cm? ® 608.44cm?

@ 589.76cm3 ® 456.12cm?

(6x6x3.14x8)—(2x2x3.14x8)
= 904.32 — 100.48
= 803.84(cm?)




19.

Fo7 =39 Yol WA Eo] [ Jem o]
017} 10em ¢1 97159 dyo]o] yrojoz
(gHol)=2x[ |x3.14x10=251.2x2

[ ]=251.2+3.14+ 10 = 8(cm)




20.

T} Zo] ¥He] yhaEo] 10em, Eol7F 10emQ W75
%] Eo] 5ol lFUTh o] B2 11§ O Zol Al ol
% em7h SAEA WHEEstel 25 3 A oA 2.

45% A
10cm
@ @

> e 82cm

S
L
1—

@ : O @2 Yol7t gong,

(@2 BHol) =(©9 HWolx2)+(@2] HWel)
=10x10x3.14+-8%x2+10x10+2
= 78.5 + 50 = 128.5( cm?)

(@9 23]) = (THol) x (&°])

= 128.5 x 10 = 1285( cm?)
(@9 =°l) =(F)+(BHel)

= 1285+ (10 x 10 x 3.14 + 2)

=8.184--- — 8.2(cm)




